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1.4 Perimeter and Area in the
Coordinate Plane

Find the perimeter and area of the polygon.
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Find the perimeter and area of each figure.
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* Afigure that lies in a plane is a plane figure

Polygon - closed plane figure formed by
three or more line segments (called sides)

Vertex - where sides intersect

**You can name a polygon by listing vertices

in consecutive order c
side BC vertex D
D
B
A E
polygon ABCDE
Core Concept
Polygons can be classified by their
number of sides:
# of sides Type of Polygon
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Concave - a diagonal can be drawn in the exterior of a figure (caved
in)
Convex - all diagonals are in the interior of a figure

Classify each polygon by the number of sides. Tell whether it is convex
or concave.
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From WS 1.4 Perimeter and Area in Coordinate Plane
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Find the perimeter and area of the polygon. T | Y I
Leave all answers in simplest radical form. T
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From WS 1.4 Perimeter and Area in Coordinate Plane

8

Find the perimeter and area of the polygon
Leave all answers in simplest radical form.

2 214’41:(’1 ?L+':}ZTC1'
LYt Gl et
{Zo 4 55
oS Iss - ¢
i
25+ C

+ofF + 55 |

(374)9 (877)7 (570)
r:‘ky
] ° EF?
" |
2 T RIETHA Y
4 (—/ 7
J L INC ] fa
>l ) q _& o
REYEAEYERN 1 [ 6] 8 x
] LS
I L - —d =
— ﬁ_
Y

August 24, 2018

Prea ) = (3= 25 A= 35~ L+ B
Tl {9)Yd) =
o "4 ) 'f l,; - 12 ’335’ uijzs)_f
Apg =) (3)( ) %_ AW 24755AM
A, - ,'(z)(HB 4 .
From WS 1 4 Perlmeter and Area in Coordmate Plane
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Find the perimeter and area of the polygon STy
Leave all answers in simplest radical form. ) - T
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_ From WS 1.4 Perimeter and Area ir_1 Cgordir;ate_Pla_ne
7. (-37 4)’ (37 7)’ (59 2)7 (_1:_1)
Find the perimeter and area of the polygon. T A
Leave all answers in simplest radical form. | 3 . Ly
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Find the area of the quadrilateral.
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Find the perimeter and area of the figure

August 24, 2018
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Homework

WS 1.4B - Perimeter and Area in Coordinate
Plane

Closure



